
ESTRUCTURA : GRUPO CUADRO	
 

GRUPO CUADRO 

  

 

Rating: Not Rated Yet 
Price: 
Variant price modifier: 

Base price with tax: 

Price with discount: 

Salesprice with discount: 

Sales price: 

Sales price without tax: 

Discount: 

Tax amount: 

Ask a question about this product  

 

Description 

Ref. Título Código

1 TUERCA M8 70-38039

2 SOPORTE MOTOR DELANTERO 70-30002

3 TORNILLO M8X40 70-38014-22

4 TUERCA M8 70-38034-5

5 ARANDELA PLANA 8 70-38045-17

6 ARANDELA PLANA 10 70-38045-18

7 TUERCA M10 70-38039-1

8 SOPORTE MOTOR SUPERIOR 70-30004

9 TORNILLO M8X70 70-38086

10 TORNILLO M8X90 70-38086-1

                        1 / 2

https://cprrepuestos.com.ar/images/stories/virtuemart/product/grupo cuadro53.png


ESTRUCTURA : GRUPO CUADRO	
 

Ref. Título Código

11 TORNILLO M10X16 70-38086-2

12 CUADRO 70-30012

13 SOPORTE DE MOTOR SUPERIOR 2 70-30005

 

 

 

 

 

 

 

 

 

 

 

 

Powered by TCPDF (www.tcpdf.org)

                        2 / 2

http://www.tcpdf.org

